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deltat=0.01; % zeitliche Schrittweite
deltax=0.01; % raeumliche Schrittweite
K=51; % Anzahl der Folgenglieder der Partialsumme

[X,T)=meshgrid(0:deltax:1,0:deltat:1);
U=zeros (size (X)) ;

for i=0:1length(0:deltax:1)-1
for n=0:1length(0:deltat:1)-1
for k=1:K
if mod(k,2)==1
e=exp(-n*deltat* (k*pi)"2);
ck0=2*sqrt (2) / (k*2*pi~2) * (-1) "~ ((k-1)/2);
vk=sgrt (2) *sin(k*pi*X (n+1l,1+1));
U(n+l,i+1)=U(n+1,i+1)+e*ck0*vk;
end
end
end
end

figure
gurt (X T,H)
shading interp;
xlabel ("x');
ylabel ("t");
zlabel ("u(x,t)’);
view([110 30]);

% | Plot der Approximation |

deltat=0.5; % zeitliche Schrittweite
deltax=0.01; % raeumliche Schrittweite
K=51; % Anzahl der Folgenglieder der Partialsumme

[X, Tl=meshgrid(0:deltax:1,0:deltat:1);
Uapprox=zeros (size (X)) ;

for i=0:length(0:deltax:1)-1
for n=0:1length(0:deltat:1)-1

for k=1:K
vk=sqgrt (2) *sin(k*pi*X (n+1,1i+1));
if mod(k,2)==

ck0=2*sqrt (2) / (k"2*pi~2) * (-1)~ ((k-1) /2);
ckn=ck0/ (14 (k*pi) *2*deltat) "n;
Uapprox (n+l,i+1)=Uapprox(n+l, i+1)+ckn*vk;
end
end
end
end

figure
surf (X, T,Uapprox);
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shading interp;

xlabel {"x'};

ylabel (V1) ;

zlabel (fu_{approxi(x,t)');
view([110 30]);

Plot der

deltat=0.01; %
deltax=0.01; %
K=51; %

[X, Ti=meshgrid(0:deltax:1,0:deltat:1l);
Uapprox=zercs (size (X});

for i=0:length(0:deltax:1)-1
for n=0:length(0:deltat:1)-1
for k=1:K
vk=sqgrt (2) *sin (k¥pi*X{(n+1,i+1));
if mod(k,2)==
ckO=2%sqrt (2) / (k~2%pi~2)* (=1)~ { (k=1}/2);
ckn=ck0/ (1+{k*pi) "2*deltat) "n;
Uapprox (n+l, 1+1) =Uapprox (n+l, i+1) +ckn*vk;
and
aend
end
end

figure

surf {X, T, Uapprox) ;

shading interp;
xlabel{("x');

ylabel (‘U');

zlabel ("u_{approxii{x,ti’);
view([110 301);
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